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What is thesum)of the interior angles of 11-gon?
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Is a rhombus regular? Why or Why not? M D

What is lh‘}of the exterior angles of a dodecagon?

What is the measure of exterior angle of a regular hexagon?
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6. What is the perimeter of a d with a side length of 7.4 m?
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Complete the followmg 1=
. What is the del‘imtmn fa parallelogram” a Usded fd‘]go’\ - ‘9\10
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zs In a square, the diagonals are _Q(c Qe Mohyand _(» ass cont

2 ‘ In a parallelogram, the opposite angles are _{P_ﬁjM_L"l’_
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2 7 In a parallelogram, the consecutive angles are Mw 7 ,é—’

2 8 In a rhombus, the diagonals are ?([ F-i,g & Q).\‘\f g @
z q In a rectangle, the diagonals are __Con g( vt E
39 In a parallelogram, the diagonals M_ each other. ﬁ

Tell whether each statement is sometimes, always, or never true.
(Hinz: Refer to your graphic organizer for this lesson.)
3’ Arectangle is a parallelogram. A 3!, Arhombusis a square. S

3;., A parallelogram Is a rhombus. S 3“.:\ rhombus Is a rectangle. N
35‘ A square Is a rhombus. A y. A rectangle Is a quadrilateral. A
3P, Asquare s a rectangle. A 3P Arectangle Is a square. S
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If a quadrilateral is a parallelogram, then |t@w Yoove T
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Find the value of x so that the quadrilateral is a parallelogram.
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